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B.Sc. Three/Four Year (Semester - IT) EXAMINATION
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(Faculty of Science)'
CHEMISTRY

Reaction Mechanism, Stereochemistry, Aromatic Hydrocarbons and Chemical Kinetics

Time Allowed: Three Hours

Maximum Marks: 80

No supplementary answer book will be given to any candidate. The candidates should write the answers precisely in the

main answer book only.
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Answers to short answer-type questions must be given in sequential order. Similarly, all the parts of one question of
descriptive part should be answered in one place in the answer-book.
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Write your roll number on question paper before start writing the answers of questions.
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Question paper consists of two parts A and B
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Part-A: 20 marks 1T — 31 : 20 3[®
Part A is compulsory having 10 very short answer-type questions (with a limit of 20 words) 0f 02 marks each. The first
question is based on knowledge, understanding, and applications of the topics/text covered in the syllabyg
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Part B of thh Question paper is divided into four units €°Mprising question numbers 2-3- There 1S one descriptive

question from each yp; with interal choice. Each question Will carry 15 marks.
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PART-A/911 — 3

Define nucleophile with examples.
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What factors affect the rate of SN 1 and SN2 reactions.
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Explain Markovnikov’s Rule with an example.
Arafimra FPrers Y SaTEReT WiRd WY |
Define chirality with an example.
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What are meso compounds? |
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Givean example of an antiaromatic compound.
T® QUEIRIAfes difire o1 Samevr dfvrg |
Explain resonance in benzene.
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What is the molecularity of a reaction?
affsar &t smorfagar Far gy 87

What is instantaneous rate?
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What is the Arrhenius equation?
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PART-B/HIT — 9§
UNIT- U/ ®TE — 1
2. Write a detiled note on electrophilic addition reactions. Explain the mechanism with an example.
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Whatare reactive intermediates? Discuss the structure, stability and examples of carbocations, carbonious and free

radicals.
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3. Writeshort notes on the following :
Fr=iferfRere v wifarer fealt foiRay -
(a) Inversion and retention
afed= g eRor
(b) Elements of symmetry
aHfAfy

(b) Diastereomers
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OR/ s
Write a detailed note on racemic mixtures and their resolution methods.
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UNIT - I/ 18 — 101
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4. Write short notes on the following :

forferfae av wfrer fewoft ferfa :
(a) Antiaromatic and non-aromatic compounds.
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(®) Birch redyction
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(¢)  Electrophijic substitution reaction in arencs.
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OR/ 3124y
is electrophilic

i
: , » n of arencs
What is the significance of substituent groups on the reactivity and orientati®

substitution? :
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UNIT-IV/ $®1§ — IV
g Write‘shon notes on the following : . l
* PRt e iy fon e :
(a) Integrated rate law fora second order reaction.
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(b) Prendo- first order reactions.
A W AT 1) s |
~ (c) Halflife and mean life
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Describe the energy profile diagram of a reaction as per transition state theory. What is the significance of activation
energy? 10+5=15
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